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What is ΔVOUT = output voltage transient
• ΔIOUT = output current transient
In this data there is no value provided?

How to do Conduction and switching losses of Buck Regulator?
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8.2.1.24 Output Capacitor Selection

The value of the output capacitor and the respective ESR determine the output voltage ripple and load transient
performance. The output capacitor bank is usually limited by the load transient requirements rather than the
output voltage ripple. Equation 6 can be used to estimate a lower bound on the total output capacitance, and an

upper bound on the ESR that is required to meet a specified load transient.
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